CHM152 Q4a 25 Pts FALL 2005 Name : :Viész/
SHOW ALL WORK TO RECEIVE CREDIT. Molar masses¥ H = 1.01, Na = 23.0, C =
12.01, O = 16.00, Ca = 40.08

i. (5 Pts) Complete and balance the following complete neutralization reactions.

a. CH4COOH + NaOH — Ha0 + M CH Coo

b.  QHENO;  + Mg(OH)y = o M0 F M C/UO3>;L
c. A HzPOy 4 dcaor), = L H, O T CG—3 k’DO‘}D =5
d. HC1 + KOH — MHCe + K Ce

503+ Sr(OH), — ;'J;j-flg o 5PC03

2. (5 Pts) How many grams of Ca(OH), are contained in 1500 mL of 0.0250 M Ca(OH), solution?
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is the molarity of Ca(NO3), in a solution resulting from mixing 150.0 mL of
with 250.0 mL of 0.0100 M Ca(OH)»?
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2ZHNO: {aqg) + Ca(OH)z(aq) > 2H20(l) + Ca(NO3)2(aq)
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i. (5 Pts) What volume of 0.50 M KOR would be required to neutralize completely 500 mL of
0.25 M H3PO4 solution?

3KOH (aq) + H3PO4 (aq) > 3H20 (1) + K3PO4 (aq)
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5. (5 Pts) Calculate the molarity of an HpSO4 solution if 40.0 mL of the HpS804 solution
reacts with 0.212 g of NayCO3.

2804 (ag) + NayCO3(s) - HyO0 (1) + COp(g) + Na»S04 (aq)
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CHM152 Q4b 25 Pts FALL 2005 Name : LZ‘%}/
SHOW ALL WORK TO RECEIVE CREDIT. Molar masses! H = 1.01, Na = 23.0, C =
12.01, O = 16.00, Ca = 40.08

(5 Pts) Complete and balance the following complete neutralization reactions.

a. ) HiPOg  + 3 ca(oH), — 6 Ha O + Ca?fiﬁo%jl

b. A HNO3 + Mg (OH) , — L H,0 o+ /V"il (f‘*’{)g“
c. CH;COOH + NaOH — Moo+ Na CHy COO
da. HyCOz  + Sr(OH), — &k la o S e, 3

e. HC1 + KOH — P I Y . )

(5 Pts) How many grams of Ca (CH) », are contalned in 500 mL of 0.0350 & Ca(OH), solution?
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(5Pts) What is the molarity of Ca(NO3)s in a solution resulting from m1x1.ng 150.0 mL of

0.0200 # HNO3 with 100.0 mL of 0.0100 M Ca{OH),
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(5 Pts) What volume of 0.50 M KOH would be required to neutralize completely 500 mL of
0.35 M H,S04 solution?

2KOH (aqgq) + 82504 (aq) =~ 2H20(l) + K2504 {aq)
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(5 Pts) Calculate the molarity of an HpS504 solution 1f 40.0 mL of the H;804 solution
reacts with 0.312 g of NayCO3.

H2504 (aq) + 111]8.2(:03 (s) > Hzo (1) + C02 (9) + N82504 (ag)
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